Ha4ynHaeTcAa ypokK,

OH NoOUAET pebAaTam BMpPOK.
[locTapanTecb BCE MOHATD,
YT06bI 3a4a4mM 6e3 Tpyda pellaThb,

[i[peo6bpa3oBbiBaTb, CYMTATD,
YepTuTtb, CMEKaTb 1 paccyXaaTb.
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[lepyMeTp MHOroyroJibHUKa
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4M+5M+8M=17/M
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5cM+5cM+8CcM+8CcM=26CM
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[_] CyMmMa A/IMH CTOPOH
Ha3blBaeTcA MEPUMETPOM.
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HayepTute 4yeTbipeEXYrosbHUK -

i |
N

3

B

CO CTOpoHamM 5 cm 1 4 cm. Hamaute
. NepuMeTpP YeTblIpEXYroJiIbHUKA,
MCMNOJIb3YA U3MEPEHUE LUMPKYJIEM.
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5 CM

P=5+4+5+4=18 (cM)



| P=7+5+5=17 (M) |




CaMocToAaTeiIbHada paboTa

4 cM

8 cM
2 M 3CM/ \BCM

5 CM

.



[ P=2+5+8=15 (CM)

[ \ P=6+3+3+4=16 (CM)

P=3+3+3+3+3+3=18 (CM)




[ Kak MOXXHO HauTH NnepuMeTp ]

MHOIoyroJibHukKa?

[lepymMeTp — 310 cymMMa

AINH CTCFDO-_Ha\.p.CquE)IIbHMKa.

VY /N M



yY3Ha/1 MHOIO MHTEPECHOrO...
A Hay4dmnca...
A ctapanca...
MHe Obl/1I0 CNOXKHO...

VY /N M




